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1.
Orbital energy diagram (shown through 4d):
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2.
What is the difference between the 1s and 2s orbitals?

Basically size.  The greater the principal quantum number (n), the greater the orbital size.

3.
Sketch the 2p orbitals.
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4.
The electron configuration for He is 1s2.  Determine the electron configuration for Li.  Is Li a reactive element?  Why?  Determine the electron configuration for Li+.  Hmm.

Li is 1s22s1.  Lithium metal (just plain lithium, not the ion) is very reactive.  It readily loses the 2s electron to become 1s2 (Li+).

[image: image3.png]Energy | 4




Figure:  Electronic configuration energy level diagram for Li

5.
Determine the electron configuration for Ne.  Is Ne a reactive element?  Why?


Ne is 1s22s22p6.  Ne is inert (the principal quantum numbers 1 and 2 energy levels are full.

6.
Determine the electron configuration for F.  Is F a reactive element?  Why?  Determine the electron configuration for F-.  Is F- a stable ion?  Why?


Figure:  Electronic configuration energy level diagram for F [image: image4.png]Energy






F is 1s22s22p5.  F is very reactive (the principal quantum numbers 1 and 2 energy levels are ALMOST full.  F readily gains an electron to have the electron configuration 1s22s22p6 (like Ne).

7.
Determine the electron configuration for O.  Is O a reactive element?  Why?  Determine the electron configuration for O-.  Is O- a stable ion?  Why?  Determine the electron configuration for O2-.  Is O2- a stable ion?  Why?


O is 1s22s22p4.  O is very reactive (the principal quantum numbers 1 and 2 energy levels are ALMOST full.  O readily gains two electrons to have the electron configuration 1s22s22p6 (like Ne).  O- is not a stable ion.  O- will readily gain another electron.

8.
What element has the electron configuration 1s22s22p3?  Sketch the orbital energy diagram for this element showing the 1s, 2s, and 2p orbitals.  Is something "half-filled?"


Nitrogen is element number seven and has the electron configuration 1s22s22p3.
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9.
What element has the electron configuration 1s22s22p63s1?  Is this element reactive?


Na (element number eleven) is very reactive.  It readily loses the 3s electron to become isoelectronic with neon.

10.
What element has the electron configuration 1s2?  Is this element reactive?


He is inert.

